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Notes: Blood Disorders
Anaemia (or anemia)
· [bookmark: _GoBack]Not enough _______________________________________
· Often due to low levels of ________________ which is a key component of ________________
· This leads to low ________________________________
· No hemoglobin = ________________________________________________
Sickle Cell Anaemia
· ________________________________of RBC
· Cells form a ________________________________ (crescent) instead of a ________________________________________________
· Leads to ________________________________transport
· Forms ________________ and blocks ________________

Haemophilia (Hemophilia)
· Blood ________________________________________________properly
· ________________ disease – linked to ________________________________so much more common in men

Leukaemia (Leukemia)
· ________________ of ________________________________tissues
· Usually starts in the ________________ and causes the production of ______________________________________________________ (most often _____________________________________________)
· These abnormal cells often ____________________________ properly and can crowd out normal (“good”) cells _______________________ them from doing their jobs
